
A/L 2024 (G.13)                           ICT Scheme               A/L Examination                                              FWC-6th Term 1 

 

 

 

A/L ICT Marking Scheme 

2024 – October 

 

Nationl Field Work Center (NFWC) 

Thondaimanaru 
 

 

 

 

ICT 

 

 

 

This document /scheme has been prepared for the use of marking examination paper.  

Some changes and alternative anaswers would be made by the teachers. 

Amendments to be included. 

Si
r 
UD
UL
A 
PR
IY
AN
KA
RA

https://www.ict-with-udula-priyankara.online/


A/L 2024 (G.13)                           ICT Scheme               A/L Examination                                              FWC-6th Term 2 

 

Part – I – Suggested Answers 

 

(1) 2 (11) 3 (21) 3 (31) 1 (41) 2 

(2) 2 (12) 3 (22) 5 (32) 1 (42) 5 

(3) 3 (13) 2 (23) 5 (33) 5 (43) 1 

(4) 3 (14) 2 (24) 1 (34) 2 (44) 3 

(5) 2 (15) 1 (25) 5 (35) 3 (45) 2 

(6) 4 (16) 2 (26) 1 (36) 4 (46) 5 

(7) 3 (17) 4 (27) 5 (37) 3 (47) 5 

(8) 5 (18) 1 (28) 3 (38) 1 (48) 5 

(9) 5 (19) 3 (29) 3 (39) 3 (49) 2 

(10) 3 (20) 2 (30) 4 (40) 4 (50) 5 

    

Part – II  A – Suggested Answers 

 

 

Question 

No. 

 Marks 

(1)(a)(i)  

 

 

2 marks  

 

partial 

marks can 

be given 

(1)(a)(ii) <html> 

<head> 

      <title> Registration </title> 

</head> 

<body> 

<form action="register.php" method="post"> 

 <fieldset> 

 <legend> Register </legend> 

  Full Name: <input type="………text……………" 

name="name"/> 

 

 

3 marks 

[6 x 0.5] 

 

partial 

marks can 

be given 
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< p> Mail Address: <input type="…………email / text………….." 

name="email"/> </p> 

  User Name: <input type="………text……………." 

name="uname"/>  

  <p> Password: <input type="……password…" 

name="pwd"/> </p> 

  <input type="…………submit……" name="Submit" 

value="Submit"/>  

              <input type="…………reset……" name="Cancel" 

value="Cancel"/>  

 </fieldset> 

</form> 

</body> 

 
(1)(b)(i) p,h1,div {font-size:16px;} 

p,div {font-family:arial;} 

p,h1 {color:red;} 

2 marks 

  

[1+0.5+0.

5] 

(1)(b)(ii) <link rel="stylesheet" href="register.css"> Or 

<link rel="stylesheet" type =“text/css” href="register.css"> 

 

1 marks 

 

 

(1)(c)  

Labels Terms from the list 

① connect_error 

② $conn 

③ $sql 

④ $conn->close() 
 

 

2 marks 

 

 

[0.5 x 4] 

 

(2)(a)  

L>0 and B>0? 

Area = L x B               gug;gsT = L x B 

Perimeter = 2 x (L + B) Rw;wsT = 2 x ( L + B) 

Display Area, Perimeter gug;gsT> Rw;wsT fhl;rpg;gLj;Jjy; 

 

 

4 marks 

 

[4 x 1] 
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(2)(b)(i)  

 - numbers 

 - num 

 - result * num 

 - result 

 

 

2 marks 

 

[4 x 0.5] 

 

 

(2)(b)(ii) 

 

Variables Constants 

Can change value after 

assignment 

Cannot change value once 

assigned 

Can be used to store value Can be used to store value 

Consists of a name Consists of a name 
 

 

2 marks 

Alternativ

e answers 

accepted 

 

 

(2)(c) 

 

1 - D 

2 - A 

3 - C 

4 - B 

 

 

2 marks 

 

[4 x 0.5] 

  

 

 

(3)(a)(i) 3NF 

Because, It has no transitive dependancy or Every non-key attribute is 

dependant on primary key or Every determinant is key. 

DepName  Manager 

 

 

1.5 marks 

 

 

(3)(a)(ii) Correct. 

Because, It has no transitive dependancy or Every non-key attribute is 

dependant on primary key or Every determinant is key. 

ID  FirstName, LastName, DepName 

1.5 marks 

 

(3)(b)(i)  

It is a weak entity or It does not have any own attribute to identify its 

instances. 

 

1 marks 

 

(3)(b)(ii) Bcode+BranchNo 1 marks 

 

(3)(b)(iii) Bank (Bcode, Name, Address) 

Branch (Bcode, BranchNo) 

2 marks 
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(3)(c)  

(i)   Mobile marketing - elkhLk; re;ijg;gLj;jy; 

(ii)  Competitive advantage - Nghl;bapil mD$yk; 

(iii) Subscription as a revenue model - tUthd khjpupakhf re;jh 

(iv) Web portal - tiy thry; 

(v)  e-marketing - kpd; re;ijg;gLj;jy; 

(vi) Brick-and-mortar business - gpwpf; kw;Wk; Nkhl;lhu; tpahghuk; 

 

 

 

3 marks 

 

[6 x 0.5] 

 

 

(4) (a)  

① Customer - thbf;ifahsu; 

② Customer details - thbf;ifahsu; tpguk; / tpguq;fs; 

③ Supplier - tpepNahf];ju; 

④ Payment or Invoice - gzf;nfhLg;gdT or nfhLg;gdT or 
tpiyg;gl;bay; 

⑤ Preparing and agreeing estimate - kjpg;gPl;bidj; jahupj;jy; or 
cUthf;Fjy; 

⑥ Agreed estimate - Vw;Wf;nfhs;sg;gl;l kjpg;gPL  

⑦ Materials provided - fl;Lkhdg; nghUl;fs; 

⑧ Job schedule - Ntiy ml;ltiz / fhyk; 

⑨ Start date confirmation – cWjp nra;ag;gl;l njhlf;f jpfjp  

⑩ Customer name - thbf;ifahsu; ngau; 

 

Note: 

⑤ - should be in verb form 

① - should be in singular noun 

Others should be noun (whether singular or plural) 

 

 

5 marks 

 

[10 x 0.5] 

 

 

(4)(b)(i) 

 

 

220 

2 marks 

 

(4)(b)(ii) 

 

 

218 

1 marks 

 

(4)(b)(iii) 

 

 

4MB 

 

2 marks 
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Part – II  B – Suggested Answers 
 

 

Question 

No. 

  

(5)(a)(i) 

 

 

 

𝑨 𝑩 𝑪 𝑨̅ 𝑩̅ 𝑪̅ 𝐴̅𝐵̅𝐶̅ 𝐴̅𝐵̅𝐶 𝐴̅𝐵𝐶̅ 𝐴𝐵̅𝐶̅ 

0 0 0 1 1 1 1 0 0 0 1 

0 0 1 1 1 0 0 1 0 0 1 

0 1 0 1 0 1 0 0 1 0 1 

0 1 1 1 0 0 0 0 0 0 0 

1 0 0 0 1 1 0 0 0 1 1 

1 0 1 0 1 0 0 0 0 0 0 

1 1 0 0 0 1 0 0 0 0 0 

1 1 1 0 0 0 0 0 0 0 0 

 

4 marks 

 

0.5 for 

each 

rows 

 

(5)(a)(ii)  

 

 

 

 

 

2 marks 

(5)(a)(iii)  

𝐴̅𝐵̅ + 𝐵̅𝐶̅ + 𝐴̅𝐶̅ 
 

 

2 marks 

 

(5)(a)(iv)  

(𝐴̅̅ ̅ + 𝐵̅) + (𝐵̅ + 𝐶̅) + (𝐴̅ + 𝐶̅) 
 

 

2 marks 

 

(5)(b)(i) 𝐴𝐵̅ + (𝐴̅ + 𝐵̅ + 𝐶. 𝐶̅̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ) 

= 𝐴𝐵̅ + (𝐴̅ + 𝐵̅ + 0̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅̅ ̅) 

= 𝐴𝐵̅ + (𝐴̅ + 𝐵̅̅̅ ̅̅ ̅̅ ̅̅ ) 

= 𝐴𝐵̅ + 𝐴̅̅. 𝐵̅̅ 

= 𝐴𝐵̅ + 𝐴𝐵 

= 𝐴. (𝐵̅ + 𝐵) 
= 𝐴. 1 

= 𝐴 
 

 

3 marks 

 

(5)(b)(ii) A+(B+C)=(A+B)+C 

A⋅(B⋅C)=(A⋅B)⋅C 

 

2 marks 
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(6)(a)  Logical Addressing (IP Addressing) 

 Routing 

 Packet Forwarding 

 Fragmentation and Reassembly 

 Path Determination 

 Quality of Service (QoS) 

 Inter-networking 

 

4 marks 

Alternativ

e answers 

accepted 

(6)(b) 1. Low Latency 

2. No Overhead from Error Correction 

3. No Congestion Control 

4. Out-of-order Packet Tolerance 

5. Multicasting Support 

6. Lightweight Protocol 

2 marks 

Alternativ

e answers 

accepted 

(6)(c)  

Departments Network 

address 

Broadcast 

address 

Subnet mask Usable IP 

address range 

Information 

system 
192.248.16.0 192.248.16.31 255.255.255.224 192.248.16.1 - 

192.248.16.30 

Production 192.248.16.3

2 

192.248.16.63 255.255.255.224 192.248.16.33 - 

192.248.16.62 

Marketing 192.248.16.6

4 

192.248.16.95 255.255.255.224 192.248.16.65 - 

192.248.16.94 

Accounting 192.248.16.9

6 

192.248.16.12

7 

255.255.255.224 192.248.16.97 - 

192.248.16.126 
 

 

3 marks  

 

[Each 

row takes 

1 marks] 

 

 

(6)(d) 

 

 

4 marks  

Alternativ

e answers 

accepted 

(6)(e)   Efficient use of IP addresses (customizable subnet sizes). 

  Better scalability for future network growth. 

  Reduced wastage of IP addresses. 

  Support for complex and hierarchical network designs. 

  More efficient routing (fewer routing table entries). 

2 marks  

Alternativ

e answers 

accepted 
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(7)(a)(i) A PIR (Passive Infrared) sensor is used in primarily for motion detection. 

It detects the infrared (IR) radiation emitted by objects, particularly humans, 

and is commonly used for detecting movement in a defined area. 

 

2 marks 

 

(7)(a)(ii) When Human moves before PIR sensor, it automatically light on LED. 1 marks 

 

(7)(a)(iii)  - sensor       - HIGH        - LOW         - else 2 marks 

 

(7)(b)(i) B2C / Business to customer / Business to consumer 1 marks 

 

(7)(b)(ii)  Faster buying process 

 Cost reduction 

 Affordable advertising and marketing 

 Flexibility for customers 

 No reach limitations 

 Product and price comparison 

 Faster response to buyer/market demands 

 Several payment modes 

 Enables easy exports 

 24/7 service 

 

2 marks 

[1+1] 

 

Alternativ

e answers 

accepted 

(7)(a)(iii) Online sales revenue model, Online transaction revenue model, Online 

advertising revenue model. 

2 marks 

[1+1] 

 

 

(7)(c)(i)  

 

 

 

 

 

 

 

 

 

 

4 marks 
Customer 

-0.5, 

chatbot – 

0.5, 

Extraction 

agent – 

0.5, 

Search 

agent – 

0.5, sub-

agent – 

0.5, arrow 

directions, 

search 

results – 

1.5 

 

 

 

. 

. 

. 

. 

 

Customer Chat-bot Extraction

agent 

Search 

agent 

Sub-agent 

1 

Sub-agent 

2 

Sub-agent 

N 

Search results 

Search results 

Search results 

Search results 
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(7)(c)(ii) Extraction agent – gpupj;njLg;G Kftu;, Search agent – Njly; Kftu;, Sub 

agent – cg Kftu; 

1 marks 

 

 

   

(8)(a)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6 marks 

 

[four 

entities – 

2 marks, 

three 

relations

hips - 1.5 

marks, 

cardinalit

ies - 1 

marks, 

attributes 

– 1.5 

marks] 

 

 

 

(8)(b)(i)  

1 NF (1st normal form) 

Because the table contains partial dependency CourseID  CourseName and 

it is in 1 NF , has no repeating groups. 

 

2 marks  

[1+1] 

 

 

(8)(b)(ii)  

Student (StudentID) 

Course (CourseID, CourseName, InstructorID) 

Instructor (InstructorID, InstructorName) 

Student_Course (StudentID, CourseID) 

 

 

4 marks  

 

(8)(c)(i)  

DELETE FROM Persons WHERE PersonID = ‘P003’; 

 

2 marks  

 

(8)(c)(ii) 
 

PersonID FirstName City 

P003 Jamuna Jaffna 

P005 Vimali Jaffna 

 

1 marks  

 

manufacturer sparepart 

order orders customer 

street city 

address 

name 

customernumber name ordernumber 

contains quantity 

made by 

partnumber description 

1 M 

1 M 

M 

N 
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(9)(a)(i)  

Phase deployment 

2 marks  

 

(9)(a)(ii)  

 Reduced Risk of Failure 

 Easier Bug Detection and Resolution 

 User Feedback and Iteration  

 Improved Resource Management 

 Enhanced User Experience 

 Gradual Change Management 

 

2 marks  

 

Alternativ

e answers 

accepted 

 

(9)(a)(iii)  

1. Complexity in Management 

2. Resource Intensive 

3. Potential for Inconsistent User Experience 

4. Extended Deployment Timeline 

 

2 marks 

 

Alternativ

e answers 

accepted  

 

(9)(b)  

Technical feasibility, Schedule feasibility, Economical feasibility 

 

3 marks  

 

(9)(c)(i)  

Acceptance testing is essential for validating that software meets user 

requirements and is ready for deployment.  

It is primarily conducted by end users or clients, supported by the QA 

team and other stakeholders, to ensure that the software functions correctly 

and effectively before it is released to the broader user base. 

 

 

2 marks  

 

(9)(c)(ii) 

 

 

 

 

 

4 marks  

 

Alternativ

e answers 

accepted 
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(10)(a)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6 marks  

 

 

(9)(b)(i) 7 2 marks 

 

(9)(b)(ii) Displaying number of values in the list that are greater than 3. 

 
2 marks 

 

(9)(b)(iii) L = [5, 4, 7, 4, 4, 3, 2, 1, 5, 6] 

S = int(input('Enter a number:')) 

count = 0 

j = 0 

N = len(L) 

while j < N: 

    if L[j] > S: 

        count = count + 1 

    j = j + 1 

print(count) 

 

5 marks 

[0.5 

marks for 

each line] 

 

 

 

 

Enter a number, N 

Is 

i < N ? 

Yes 

i = i + 1 

Start 

 i = 0 

Enter subject marks, S 

Is 

S <= 100 ? 

display S 

End 

Yes 

No 

No 

Final Marks Distributions 

Part – I 2 x 50 = 100 marks Part – II A    10 x 4 = 40 marks  Part – II B   15 x 4 = 60 marks 

Total: 200 / 2 = 100 marks 

**** 
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